O F#tam (1 7 &Fh)

zn 1cm 50cm Tm = R o s n L

No HEEk A BTG | BEAE [ BENE [ BAE | BIE | BAE | PABAESH | A2 K
1 3 EFELS 0.07 0.07 0.07 0.07 0.07 0.07 5
2 [RETF{E515 0.05 0.07 0.05 0.07 0.05 0.07|IaZE AL ER 5
3 [RETF{IEE 0.05 0.06 0.05 0.06 0.05 0. 06| A Ok 5
4 |HERFHLES 0.06 0.06 0.06 0.06 0.06 0.06 5
5 [=REFHILIS 0.07 0.07 0.07 0.07 0.07 0.07 5
6 |5 —tRTE—FHLIE 0.05 0.06 0.05 0.06 0.05 0. 06| F 76 Ep %45 5
] |HET RS 0.07 0.07 0.07 0.07 0.07 0.07 5
8 (A FHILE 0.07 0.07 0.07 0.07 0.07 0.07 5
9 [hBFHISE 0.07 0.07 0.07 0.07 0.07 0.07 5
EHFHAFELS 0.07 0.20 0.07 0.15 0.07 0. 10| Fa R ER AR 6
—EHE_FHILE 0.07 0.07 0.07 0.07 0.07 0.07 5

T AT L5 0.07 0.07 0.07 0.07 0.07 0.07 5
ERTEYN 0.07 0.07 0.07 0.07 0.07 0.07 5
EHaIa1=T1:5 0.05 0.05 0.05 0.05 0.05 0.05 5
BEII 1 =T 165 0.07 0.07 0.07 0.07 0.07 0.07 5
I EEET=L AN 0.07 0.07 0.07 0.07 0.07 0.07 5
INRFEIRES 0.05 0.05 0.05 0.05 0.05 0.05 5
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